i) LYl zeliall 2Bge (o calall s AMiamat T Ss

almahahj.com/ae

bl ) T30

ol ) &l dall

i 423 aall

dno N dy i)

Graphing iwssd) 3a>g)l (o JoM| o all Jac 3l ]
Exponential Functions

Ly, (Slaidl ol alil] 4>

ZNp 1‘5,51.:3_'\3‘ OlbxiN als] J>

oxie) i

Lflx‘"m-” \S\_\.g.” (359 d.\jl.g_' iz o



https://almanahj.com/ae/pages/search?teacher_name=مصطفى أسامة علام
https://almanahj.com/ae/id=19750
https://almanahj.com/ae/14math1
https://almanahj.com/ae/14math
https://almanahj.com/ae/14
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade14uae
https://www.facebook.com/grade14uae
http://bit.ly/2TwvmBf
https://t.me/almanahj_bot
https://bit.ly/3d37XjG
https://bit.ly/3lSsdIt
https://bit.ly/3lQ5kFG
https://bit.ly/3ro2lFw
https://almanahj.com/ae/id=22563
https://almanahj.com/ae/id=22563
https://almanahj.com/ae/id=20011
https://almanahj.com/ae/id=19995
https://almanahj.com/ae/id=19978
https://almanahj.com/ae/id=19928
http://www.tcpdf.org

e Al ihae [ ot Jee £B https://t.me/mathbookl1ADV % https //t.me/alllaaam82
050-2509447 i) e sdlal) yad o d alE -

2022- 103 pudie 11 JSea Sbla

dudi el (o &595a)l Ayl Cile gazall Cauog I
1 Exercises (5-12) P707
Describe subsets of real numbers I
O 8 piad) 30,9 Ak guned! 30y ftmh el e gong JS u.aﬂ -
oSl
5. 8 < x <99 6. —31< x< 64
7. x < —19 )i x > 21 8. x< 0, x=100

9. {—0.25,0, 0.25, 050, ..} 10. x <61, x= 67
8 saall lucling g .12 x> 86, x<—45 .11

5. {x|8<x<099 x€R}; (8,99
6. { x| —31<x<64xER};(—31,64]

1 {x|]x<—18arx> 2, xE R};
(50, =19) U (21, 9)

8. {x|x<00rx:>100 x € R};
(—oc, 0) U100, =)
9. {x|025n—x n=-1n€Z}

10. {x|x<6lorx=67x€E R};
(—o, 61] U [67, )

{x|x<—450rx>86,x € R}
(—oo, —45] U (86, o)
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2 Exercises (48-51) P708
Identify and evaluate functions and state their domains I
s i) Badaie Wa St F(12) 4 F(—5) usr -
(—4x+3 .x<3
48. f(x) =4 —-x? .3<x<8
».3X2+1 . X> 8 23- 433 .48
( —5x?2 .x< -6
- .49
49. f(x) =3 x?+x+1 . -6<x<12 21, 157
05x3—4 . x>12
) 24;: 14 50
(2x2+6x+4 .x<—4 P
50. f(x) =+ 6 — x? —4 < x<12 76
14 . x=12
-15 . x< -5
51 fl:x):l‘vx-i_é . —5<x<10
248 .x>10
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Exeruses (39-46) P708

Identify and evaluate functions and state their domains I
ETINPINTOUINVa

8x + 12 x+1

39. f(x) = 40. glx) =
X% +5x + 4 IX =% 3x—40

4. gla) =V1+ a? 42. hix) =V6 — x?
43. flg) = =22 44. glx) = —2

4a — 1 x? —16

N
»

45, f(X)=;+x+1

46. glx) =

(—o0, —4) U (—4, —1) U (-1, .39
©0)

8) U (8, ) .40

(=00, 0) .H

[-V6. V6] .u2

(=00, =5) U (=5,

(0.25,

(—o0, —4) U (4,

(—oo, —1) U (=1, 0) U (0,
(—oo, =3) U (=3, 4) U (4,

c0) .43
o) .4
o) .45
o) .46
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I Exercises (1-10) P728

Use limits to determine the continuity of a function

Sl 5 ;J,s:....nx,..éu-zria.mm;dsqu lsll.n..u.

¥ elgw Jladi) §gd ddond cdilaiio COLS 131y ‘_]Lm'il JI....avl f SSuiwly

AN Ll o ¢l o Sl
1 f(x) =Vx?—4; ve x=-5 f(—5) ; ilazs .1
— A58 s> o =421
2. f@=Vxt5; e x=8 llhl f(x) = 4.58,
2 _ —
3. h(x):xx-'_zﬁ; e x:—619 x==6 Alln‘l f }x) f( ) P
, =413 ; il
4. h(x):x _25; e x=—59 x=5 lln] f( ) 361/;;—”9-*
x+5 X—%8 - .7
Iim f(x)=1(8)..,
X X—8
5. gbx) =s=piuex=1
* B Al Al 48
2—x _ _ 49,30 ,. 0 h(_b)
6. g9(x) s e X=—2 g Xx=2 § SRS
8 2+ x S, 11m hix) =6(x)
7 h(x) Zx;4 7 e x=1gx=4 J_Lﬁ Jl_“lﬂ_j‘ ilaaie hix)
Xomoxt x=—6. axe A;U
— 6 - = 6 : . .
8. h(x) x(x3 ),.A--c x=0sx=6 X=0 wae dlaie
x /1(' 0,
_J4x—=1 13 x<—6 _ llm h(x) =0
9 f()—{ - ; x=—6 9
—x+2 13 x>—6 11m h(\)—h(b)
, 5
xc—=1 13 x> =2 _ X==5 aic dlnais .4
10. /@ {x—S 5 x< -2 SEXT T2 i3,00 i h(=5);

lim_h(x) = —10, Al x)
e A B Jlax) e

x = -')

h(5) =045 a:c alazs

lim h(x)=0
lun Tl \)—h( Js
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I Exercises (1-10)
Find intervals on which functions are increasing, constant, or decreasing I
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I Exercises (34-45) P739
Find the average rate of change of a function I

a,mlh,s?gu..mudsg‘am.imdmm,uu

.03 douyl
34. g(x) = —4x? + 3x — 4; [—1, 3]
35. g(x) = 3x* — 8x + 2; [4, 8]
36. f(x)=3 x3 —2x2 +6;[2, 6]
37 f(x) = —2x° — 4x> + 2x — 8; [-2, 3]
38. f(x) =3x* — 2x* + 6x— 1;[5, 9]
39. f(x) = — 5x% + 4x — 6; [—1, 5]
40. h(x) = —x° — 5x% + 6x — 9; [3, 6]
4. h(x) = x> + 2x* + 3x — 12; [-5, —1]
42. f(x) =— 3. 15, 12]
23. fx) =2E2;[-6,2]
44. f(x) =Vx+8;[—4,4]
45. f(x) =Vx—6;[8,16]
—2550 .40 -5 .34
472 .41 28 35
0.05 .42 140 .36
—0.45 43 —16 .37
~0.183 .44 4430 .38
~0.219 .45 —309 .39

14



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook11ADV
https://t.me/mathbook11ADV
https://t.me/mathbook11ADV
https://iwtsp.com/971502509447

PNSLM‘MIWJM‘J&
050-2509447

https://t.me/mathbooklIADV

https://t.me/alllaaam82
patial) e gall pad - 5k sl

gﬁ%—

fx)=—x3+3x , [-2,-1]

.awtafw?g‘s;;u;m:pﬁuumh.ﬁ}u#,i

3
A ‘F(-*')-*f('z) L-? f(-—-l) - _.(_1\ 20 1 N = =W
s -1 - ¢-2) ’
SIENEY =T ooxvug Ve
- -4 _ 2 ‘
b o & /
I ! ?
= = = =
fx)=x> =222 - 3x +2,[2,3] ;
g
m . £ - P | e Puay o (). p03) -nilsYy «55 2
2€c 3 -5 / 3 z
P2 = (7200 Y3 Vuge b
- 2 \(@)Y_ ¢
B ol
. @
flx) = x* — 6x2 + 4x, [—5, =3]
oo P - 25 | Péayot. Yoat sy whkba) = 3
e L) } P(—SS:(-%)Q— ﬁ(—S)-L + 48y : 455
—~ 15 - 4‘5“5__ /
-3 «+5
5
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I Exercises (1-12)

Perform operations with functions

P759

1.

1.

f
f(X) o JSI (g)(x) g (fe g)X) g (f— g)(X) g (f+ @(X) o> -

f(x) = x? + 4 2.
gx) =vx
f(X) = x* +5x + 6 4.
gx)=x+2
L fO0 = X2 + x 6.
gix) = 9x
_ 6
f(x) = X 8.
g = x>+ x
1
. f(x) —W 10.
g(x) = 4\/x
f(x) =vVx+ 8 12.
gx)=vx+5-3

fx) =8 — x3
gx)=x—3
f(xX)=x—9
gx)=x+5
f(xX) =x—7
gx)=x+7
f0 =%
g(x):%
fx) =2

X
g = x*
f(xX)=Vx+6
gix) =vVx—4

adada Wy S Jlowe ;S50 .9(X)

16



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook11ADV
https://t.me/mathbook11ADV
https://t.me/mathbook11ADV
https://iwtsp.com/971502509447

S Tl il | utall dae - https://t.me/mathbook!IADV % https://t.me/alllaaam82
CIEAEL &

050-2509447 piall jie gaall guad - 5338 Claaly ) Clilaial 5 o 5k 38
gllme st o3 A3V gl %S 1o 5 ) = 2% + dx, g0) = VX +2,h(x) = 3x — 525513)
(f = mx) b (f+9k) (a
(P-Wr =(x*s4%) - (32 -5) (Peg) iy (2letn) o Mg
=% 4% +§ = ¥ 4 4 +[Faz
(-, ) P ixe (0, o0) = Poxy Jlna
(—0,0) " (Jire X 4220 x>-2 = Jx)  J\2A
- A o ) = [2; )
(- @, 0)N\ 2, &);E_gjw)}pLP*a) Ji=
(ﬁ)m d (f+ D) (c
Ay 2e-s . Y ;
s e (P W) (wy = (2*+ux) (32 -5)
(-e0, ) f.\jlm‘/(-;&,m)_-hh._u‘ad =3 — 5 a 22 -Zox
Xpdrzo ). T hy s = 32 ¢y T2 -20%
2 (o) hlzfte= B I
[{ o, 00) L a %-iﬁ P IPYASTL ) PR, RO | /4 1 ML
s e, s = (-, ) '
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EFeE
O
o

[4

sl JY gl oo als JS Jlows _Lq-_gi ‘,_, ;L Lo J‘S _‘3 (_f+ g)(x), (f— 3)(.\.’), (‘fo g)(,\'), (%)(x) J.g-_,'i

fo)=x—4g0)=Vo-+*
(£ 46)(x0 - 2-u +{9-2

(P-)x) - 2.u- [g,

> 6 Jall O [-353]
9 % x*
‘siz:ﬁ 'kf')m e
xl < = .
=3 '-"':"Hs # D: 53)31 3 -x—‘.
(o) x) = (x-4) G-z~ Jlad! o 9. %" >0
= * 9-1-"-—‘-'.]9-11' 9 > *
3 >
Jizbi 0 D = [-3,3] i
[Z]<3
Pl X 1
Mad) = D= (-3,3)
f(x)=x*—6x—8,¢ 2(x) =Vx
(P +9)(x)= ¥*—4x-8 + [x (f-a)(x) = 2 gy-8 fr
Jl-.u =y Z':;A c}\%&,‘_% r) = [ond'.):)
0-= £°) 00')
f N g o — 21'-61 _8
g A T T )
(“Pc 3’)(‘)()-_- (21'—61-—3) r S-;‘
= 2fx - gx[x —-gr dlﬂi‘g X >0
Jubl oy B o= Zv;ao) b = (o,w«)
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8 Exercises (15-28) P759
Find compositions of functions I
If o gI(6) g [go FIX) o [f o gIX) e Jlesd! (o g3 JS)  ECIGHIM
15.f(x) = 2x — 3 16. f(x) = —2x% — 5x + 1
glx) =4x— 8 gx) = —-5x+6
17.f(x) = 8 — x 2 18. f(x) = x 2 — 16

19.

21.

23.

25.

27.

gx) =x%+x+1

f(x) =3 — x?
gx) =x3+1
_ 1
FX) = ——
gx) =x?—4
f(x) =vVx+4
gx) =x?—4
)

f(X}ZY
gix) = Vb6 —x
f(xX)=Vx+5

g =x%+ 4x—1

gx) = x?+ 7x+ 11

20. f(x) =2+ x4

glx) = —x?
2
22. f0 = —2—

g =x?+6

24. f(x) = x2 -9

gx) =vVx+3

4

26. f(X) = —
gx)=vVx+8
28. f(xX)=Vx—2

g =x%+8

go g
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15.
16.

17.

18.

19.

20.

21.

22.

23.
24.

25.

26.

27.
28.

[fogl(x) = 8x —19;[g o f](x) = 8x — 20;[f o g](6) = 29

[fo g](x) = —50x2 + 145x — 101; [g o f](x) = 10x? +
25x + 1;[f o g](6) = —1031

[fog]x)=—x*—2x3—3x% — 2x + 7;[g o fl(x) =
x4 —17x2 4+ 73;[f o g](6) = —1841

[fo gl(x) = x* + 14x3 + 71x?% + 154x + 105;[g o f](x) =

x% — 25x2 4 155; [f o g](6) = 7905

[foglx)=—x®—2x"+2;[g o flx) = —x° + %* —
27x? + 28;[f o g](6) = —47,086

[fogllx)=2+x%[goflx)=—x*—ax*—4
[f o g)6) =1, 679 618

[Foglx)= 5 10K ++V3

[Foglx)=

2
x2+3
[f o g](x) = |x|

[fogllx)=x—6forx = —3
5V 6 — X
[foglix) =

—: X

—4\/x+8
[foglx)= %+ B forx > —8

forx < 6

[fogllx) =[x+ 2|

[foglx)=Vx*+6
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[fogl2) (c

s Las NS 151 (g(¥) = x — 4, f(¥) = x% 4+ 1 =S 13|

[goflx) (b [foglx) (a
(fog)(x) g (go\g)('x): (2w (_Peg)(x)-_-. £ (gw)
x 32 £l 7 = £y ) ~ 4 - (gnnf'+l
1?.,3( ) (2«1 Y = (z2-4 % 4)
= (2)-8(2) +If (xT2 ) = X -804 4]
—e———— ~
SR TS
| . —
f()=3x+1,80)=5—x> i Sbles IS S[f o gl [g o f1(x), [f o g1(3) a5
= (Pog) (x) ¢ =(Jef)(x) ¢ [Po8) ()= =241k
:E(QUL)) f :ﬂ( Lauy) = -3(9) n1 b
= 3(5-%) 4| 1 25-( s+l ) 3 = -27F 416
=I5 —3% | =5-(ax"+62 +1) l =\=\\ \
= 1. L—_A
G | Sasean |
flx)=6x>—4,¢(x)=x+2
(ﬁa%)(aﬂ o s (Paarana
7 LY [V AT
- 6 \1—‘1 } ‘X H}'t'z- 3""‘ & -)1-\;-?_'-\( ) +20
=6 (2" ux 44) -4 :m
2 ij '
= 6x 24wy 24 G
:(éﬂit-f-g‘-lx-l-ZO;) J;
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Evaluate, analyze, and graph exponential functions I

bglasy ilabelislly gaolly Jned! by bpllog Gily @15 g5 Gho  [EEEIGRIRN
ISR S | NN | uﬂﬂl.n 3' ool 2 ul_’ds us‘,h." g g ylad)

Exercises (1-10) Pg4

1.z = 2% 2. rlx)=5*%
3.hlx) = 02%*?2 4. klx)=6%*
X =1
5.mlx) = —(0.25) 6. p{x} =04%
1\* 1\*
7. glx) = (E 8. glx) = 3
9.cx) =2* -3 10. dx) =5"*+ 2
1D =(=0g, 00); R =10, %) D = (=00, 0o) R=(0, o) | K|} L
Ay Gl ) el o glolad)) ddans A3y a1 gl e platazll &l (=2,4) ]
e X a8 syl i)l das Lo '\.\(Sj) |
Jim 0 =0, lim rx = oo ._lim _f(x) = 00, lim f(x) = 0 15 -
X——x —C X——00 X— | H\ 11
(—00, 50) o,.uu 3ag)35a (—00, 00) 5,24l &uadlize L L) =2
:D = (=00, %0); R = (0, ) B i 600 T U 565 Y -3
s9nal) g ablai)l adaw ) ! ! N _' B !
bl das 1ty Ll ) s>all g pblinll A (3, 5) $fhn) = 027+2
i k(*)’_ 5 ;_;,'»"“ ' ioslad)l das :0.04 ty i) T
G0 =0, oK A ] 23Y) el \
% w aoslize sli = o ‘- —
8 ually aaulie xlfinl k(x) ® I_rr_] h(x) = X,){Ip’n\ hx) =0 (=2,1) (—1,02)
(=00, 20) (—00, 00) &,zally dadlize | | | | O X
= (—00, 00); R = (0, 00) ® D= (-0, 00 R= (-, 0) X1, 025)
seoall g plalat) adais R PPUNTE TR e
i) dass o1ty wll ol s =y ) (;].—4) B
X oY) el X SadY) el FEAdNE
Jim o) = 00 lim_plx) = 0 Jim  mix) = oo— )= 0|
(—00, 00) szl wols L L | [ |1 5l 3ayl520 ¢ lim  mlx) = O 1
. (—00, 00) | (—2,—16) |
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Solve problems involving exponential growth and decay I

il po Gy gy yolind) AED 300 jbus jletissly L) s Gl ooy g gl ol b Al ddled! 4B eyl

ety Al ol do e-L‘-‘-*"PS’ ‘GJ"I (LI FPe sl Oleldsl Al (S5 "J |.'|'3 o3 i o L‘uﬂl.nlw;;é%
flele 20

P=300=r=0.06 t= 20

— 300, 0-06)(20)

= 9946.04 da iy
AED 996.04 Lile 20 way pojo wolus dvwm) plow ) perwly 45 ,00) dsul o) dun a8ls) ane

8%1..1.4.} |;_4.».uio &m t_;__}l.a.n...a.u] 1...1Lm:p L_:,,EAED 1000 )La.u...ul .u IJI .__‘_,\J_‘_,'X] e r.L.i;_._“ ~—1\JL¢L1—6—“ 5
.:sl‘—IL"aLJS-‘PJIQI ls_r;l'lOn.\.ang.i_ ._1Lth|aJ.~mPSJ<Jﬂ“b¢.Sﬁuu]ﬂ5a.JLa|M3IaLﬂ1uﬁ

AED 2225.54 05 whasw ol cilely)

A= pert b mouimib] duS ol dail o)

fowl oo iy Lge ol AED 300 ale JL........uL. b Tt Clu> idsg dgel> ol ue a8 adled! AJJ.Lqu

it Al il o ) el S8 ‘5‘,.11 b g 3| Sl ldy) b S5 ol 131 .l el BLS! @5 6%
ke 20

6.7 (22)
/’\ z 3Zove &

.:_/77é.oq] C‘D/7
C——

8% alo loawife gusi gslatnd) cilus 4 AED 1000 jlza g I3l i, m¥ e 2Sul) cadlslaal)
sl s 555 o 15) ploel 10 s Bl B Lol glos 655 ol peiuls 25,0 aol oS adln) o5 5 plad)
! 'JL.‘B—""—'-*-' 5 lelay)
vt
A . pe
gs (1)

= (vvo ¢

2225. 5% Ao
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Evaluate, analyze, and graph exponential functions

Exercises (1-10)

P84

bglasg Cilablitlly gaedly Jlowe!! iy Ll g Lolu @1s JS Lo

I Gadls gl Wl F gy (B el Selully oLl

1.flx) =2~% 2. rlx) =57%
3hlx) =02%*42 4, klx) =6~
5.mlx) = —(0.25) * 6. plx) =017%
1V 1\*
7. )= (5) e 50 = (3)
9.clx) = 2% — 10. dlx) =5 + 2
:D = (—00, 00); R = (0, 00) INWLL1L8 .p=(—o0 oo R =10, o0
sl po aholash) abaw | (=1,3) X g0 = (%) soonad) g pbolas) ddazmy
re)lad) das 1y ) ) Sw G Sle ealan)) das iy Ll )
oM_g(X) = 00x L2 seoual) o m X Gad¥1 oo
oo e riess FF [ im0~
(=oo,00 11111 s,y 2adlits fim gx) = 0
. (—0C, o0)
P 10

:D = (=00, &2); R = (2, o)
o)l Samal) as abalan)) ddaz
¥ = 2 :LT)JL;L-.JI das sy 3
lim dlx) = lim dx) =
Jim dw) = 2._lim d) = o

(—00, 00) 5,xally dwdlizs

-

:D = (—00, X);

R = (-3, )
9 e plolad) ddags
bl adais =2 1y ol
das 16 3 20 sl aa
Y= =3l

oo imoelx) = 3
g

lim cl¥) = ~
X—+ O

(=00, 00) 3 1alls s44)300
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12 DRI S S IExercises (19-28) | P103
Apply properties of logarithms I
INPRERTIRITE IV |
19. logs V25 % 20. 8In#—Ine'? 4
21. 9Ine® +41n e5 47 22. log, V32 1
23. 2log;\/27 3 24. 3log, V49 1
25. 4log,V 8 6 26. 501ogs Vi25 75
27. log, V243 6 28. 361In %S —4IneS —2
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Evaluate each expression.

b Lo i S ed ur

logs 125 121081247 log, 81 3logs 1
3 ; = B
-log 5 [Alaots (‘: [u.7) clasle | -logq 9 ﬂ:wta = (1 [)awts
|J5 M_E)_] e —T 7 d? \__r - -
=1 &l ﬂ
S B | I 5
log0.001 log 26 log(—5) 10085
-log JDFS [oj -Vl 103 26 <L |°3| = Gl 28 L et
lo - = i - .
= m*f"’ < teq26 < 2 pen s 2 - (5]
= =3 "'('F)' A L .
> o LBl N I Low
g2 ) i
y1 o é’ d“"’"
log10000 log 0.081 log(—0) 101083
_leg o' ooy 81 P CIC ) = ) [2) &eli
[ J  te-o >, s = =7
= m [ﬂ—,bb
= ——
@ SN PJ;;L
=t ledl v
In 973 In(—5) eln6 —In9
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Exercises (75-79) P115
Apply the One-to-One Property of logarithmic functions to solve equations I

e L) dngn sLe ol ¥alagd! (g0 US S -
75. log (29,995x + 40,225) = 4 + log (3x + 4) 45

76. logl_ (i—x) = —log:lr(:f + 8) ——g 8

77. log x = 3 — log (100x + 900) 1
. 2 )
78. 10351—8 -3 = 1035$ 25

79. log 2x + log (4 —16—) =2log(x—2) 6

Y

g ———— g -
Solve each equation. AW S lagd! e US S
Inx+2)+In@Bx—2)=2In2|In (7x+ 3) = In(x + 1) = In (2x) | 0 {2+ 1) +In(2x—3) =2In(2x—2)
. 2
Ll beaaV 3n e W By | W/ Fxa3 _ WL 25 \[.W?x-rn(aw-ti\r\éizz.;sr
7 SR IA™ 14 Id ~ 4 7 1 7 7 L. = !_) /
[ a2\ franwar)=(27) =3 Lot o4 =3 = LBz
\_ -7 e T~ ‘—'j LN 4 A — P ke = L
gl e Kb - 4y Tl - @ gz -G = 4 43
T |
2PN~ U =D 2 (z»-}t) oy =
X 4 3§z 2%
(e ol a= 2)=6 . Z:|?\‘
x =2x + 2% ¢
>~ =2 ) + + 3 \‘/'
7 2xtaze ~F% =3 co
2x" - 52X - 3 =0
(2% 4 V)lx = 3)=P
3
P &
A — =
Qr?)dp .2 o
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Solve each equation. LAJ SY¥alagd! o US S
log, 12x + log;, (x — 1) = 2 |In uu,f{- 2)=In(y+1)=In2y—1)] log(x—12) =2 + log (x — 2)
2 :
e \/(1.3_()
loa 12% (3. = 2 | _ ) - ="
oi L F [F}
12 P
(2wl ut) o |9 Lu .9 [ -1 4
= ’ & = = 28 T ————— TN
2y - |2% - 144 - ==
& 2\ g
f_?_wl_l?)(—IL-}Ll*o it 6 +2 '—(ZZ} D(\é"“) = 10
7 2 < =
L
P Yoo P & by 42 - 249 9 | i :
o [ [} alage | fes oo
(x 1.'23(7._[4‘"\—0 2at a4 g A, 2 —o 2 -7
v 4 Jd 7 d > 4 - 00X -~ 200
fz-—-'{)( X.-:L{_» ..."'L — A ?"C o
- aeen ' ~d T A loo - % = —\2 4200
i < (244 ) (Y- 2] 50 5123
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Solve right triangles

e A il | Gpidd) Jas - https://tme/mathbookiiADV %

. opp L
sin 8 = T sine A
yp
sin 63° = ZO—XO 6 = 63°, opp = 200, hyp = x
x sin 63° = 200 X o Byl S o i
224.47 g ol x = % sin 63° Jle s JS iy
o) e 2245 M Jlgs @ilusdd) g o amma )

walsdl 3l 50 Luluze of o ,as) dd 3 dwdl Il wlad¥ .4
an okl lacd) Ol e ol wule Gl o G Lilly
i) ) Jiad @lated) gy of camm 20 28Luy])
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15 - Exercises (19-26) P145
Solve right triangles I
£ . . - & . . - & ?“ - -
.,o‘ilfglagaﬂm;ﬁ@ﬁiﬁlgﬁ.xﬁd@ -
X 170 10 X
57°
5 16
21. 22. "
24
X X
4.1 & 17.5
23.43.0 24, 222
X
14
19° 40 X
&
a0 71.2
X
22
18°
R Jagnel) plall Jobo slanal,

¥ a3 13 ke e i A I 3B X el slow ¥ Lils Ao pasiul
e Bie ——
52° -
6 _#_x_;_é_t@'b_
o e -"4.1,7
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I Exercises (43-54)

‘16

Use angle measures to solve real-world problems

P157

43.

13' ug . LEI L\"-\ E.P

4 km

. /) G‘d_.._gj_[]

12.7 i

n

L) GlS 5] 850 Gt JR53 amlws diiye g5, diadad) dile

37.7 ft2

47. %
\ 18t
ﬁ 177° 3
500.5 ft2 |
\-N';"“-\-\_._ |
48.

247.7 cm?

e u_ll i Al W%h i) uL.Ji 49

.50

S ol . ladaae Lo 35S o gty gwlady 3,0000) glad Ao lue
alad) Jdald Caad
21cm
52. A =808 cm?, § = 210°

51. A =29 ft2, 90=068 7ft
53. A =377 in? 9=—12m 54. A=75m?2 0=

1T8m
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Find the area of the sector of a circle with the given central angle ¢ and radius r.

r= 15§ =50 r=6m

= g0 5%
W - s
* 3N 50 1ge igo
s
=
| Lo
sz' — ﬂ = T

(it i) Aoy ) A bagd) d>r Slowwld!
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‘17

diliall Jlgl Liglieg tan Jdall A1 3! (el I
- Exercises (1-16) P195

Graph tangent and reciprocal trigonometric functions I

11.

13.

15.

13 g5 Gy oy el )l o ) opinis sas N

y=2tanx 3 y=tan(x+“;—r)

= oty —) —

y = cot \x 5 4. y= 31.'an3

— _1 —

y——4cotx 6. y = —tan 3x

y=—2tan(6x—‘1‘r) 8. y= cot%

y=§1csc 2x 10. y = csc (4x+?—ﬂ-)

6

y = sec (x + 7 12 y = —2 csc 3x

. ( 3T . X K6

y=4sec\x — 14. y = sec §+4§*)
3 ( 2T X

y =5esc\x — 3) 16. y —sec g
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?\

y=—tan 3x
Ly,
3

ly=—2tan (6x — 11)]
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Locate the vertical asymptotes, and sketch the graph of each function. adla s L:..l._.. Jaay el ) L o e 3as

—-—E: :C/Jf’!

T S a2
. 2T = ‘.L” =adl
y = tan 2x -

X
y = tan 5
C A Lap =y 2= {_’\::ny;,{a: L (25). Lo pa

WA G

z et Gy b _» 2Tac> 3, 2R 4T, .o

Locate the vertical asymptotes, and sketch the graph of each function,
Y= —tan=

A JS Gy Sy el ) o 1 e e dus
™ - - o | 7 (R e
2 — 2%.—= WM opn(x- el % | y=itn (4T s

L ] an 3 ar ; < | - T e

- . = -‘_'_d-'-.:'l.rlﬁn-".' 7o) . i+ A -
= G, 505 R o opr| v P w S wwow Gap n | eyd pie 3;5213 wp Boe W BE
- - 2 - - ey L n 4

= T,3% 5% b2

’ .
16\’,.—0\?\1/ -:b LV T o, i, 4T
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Locate the vertical asymptotes, and sketch the graph of each function,

A S Gl JRag s I s i) o gl S

x o 1% ) . \ i w
y=cot3 AT - I A | y=—cot x v=3cots 2T = S
. - J N
P 3 ¥ -
3 C .G el i 'E 25 -
C G\ Pp? o (3 Yin g, 808, 5] 7 TSN R C Gl ppd o 2Tn o 8,2, 0T
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Locate the vertical asymptotes, and sketch the graph of each function.

™ 5oa =~ 1:,.),_.., 2w 6.
y=csc (x + 2

j -= )
.
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simS t;\—,:m‘_, 2 (. ol
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A2 U5 Gl Jheg el I o i) o plad 2an

- 27 -
y = secC "'}" — CosS5 = —W =) = - -y
7 L )
%‘ s Sec . c’ t“’_b}b /

Y =CSC2X =% #iude — a2 |
1 _J'/‘“ w s h = TT'
z
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18 Exercises (1-14) P206
Evaluate and graph inverse trigonometric functions I
Dad O ol Lo peead JSI) AR D)) aor gl
3 T
-1 Vo 2
1. sin 10 0O 2. arcsin > 3
2 W . 11 ®
3. arcsin 5> 2 4. sin > 6
5. sin ( > a 6. arccos( B
_ 2 T
7. cos 1% —_ 8. arccos (—1) T
4
V3 T 41 X
9. arccos =5~ ¢ 10. cos 73
1Y T
1. arctan1 ry 12. arctan (—V/3) —3
4V3 ™ _
13. tan 1V3 T 14. tan 10 O

3 6
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19 . Exercises (1-10) P655
Construct and use a probability distribution I
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AEDR0 e ) JLas¥) gy e S5 Jsar 21 .2
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AED 250 800 g s s il fo b
AED 500 480 gl 50 sua) s 1,5 Joas ol .C
AED 1000 320 :

Lol usmmall LB aajeal) J, d
AED 2500 256 AED 922.50 .34l and o> L@

AED 5000 128 I . lali Ml o =
AED 7500 64 )
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4

.6

v

.8

.9

dase X a2 W 3] dsae

10a. X i) p(x)
AED 100 0.35

AED 250 0.25

AED 500 0.15

AED 1000 0.10

AED 2500 0.08

AED 5000 0.04

AED 7500 0.02

AED 10,000 0.01

Hladeall Lzl .1
oy Amaas das ol Glsaall
15) aal) ALl cilmaally dsa
Janie X gl

s b Ko Sledall gz dl 2
abls B 53a>ged) callasl
cillasmall Aagssal)) Tlascall
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10b. lgele Joad! £ I g
0.4
0.3 H
= H
-3 02—
= -
(1R I B e O
100 250 500 1000 2500 5000 7500 10,000
(AED) 3 5l jlee
10c.

AED 100 23 0.46
AED 250 8 0.16
AED 500 6 012
AED 1000 5 0.10
AED 2500 3 0.06
AED 5000 2 0.04
AED 7500 1 0.02
AED 10,000 2 0.04
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Exampled P653

Analyze a probability distribution and summary ststistics I

Y :ﬁ)e
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